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JFINANCIAL MANAGEMENT / FUNDAMENTALS OF FINANCIAL
MANAGEMENT

(Repeaters / Regular & Repeaters)

Time : 3 Hours Maximum. Marks : 80
Instructions : (1) Attempt all the sections according to internal choices.
RTINS FOFOF S U DR JAIL, WFOA0.

(2)  Use of simple calculators is allowed.

O NTEOTNY GVTOILEITI), SR SRR,
(3)  Section - D is compulsory.

g — & EFYADTING,

SECTION - A / port - &
1. Answer any ten of the following. 10x2=20
TN Wesarw B8y YUZORD.

(a) What is business finance ?

ss?swaaad BEITIOR) VOWTER) ?

(b) Define financial management.

DEITOAD &zds'aasab@ aaéwaémo&

(c) What is time value of money ?
AEHoD Sd3 Bed SPe) Horverd ?

(d) What is watered capital ?
eI WO NOBTER ?

(e) What are the theories of capitalisation ?
WOBYETT T %agoérwo o3RIy ?

P.T.O.
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(f)  What is an optimun capital structure ?

BSWIE WOBHY TS 0BV 7

(g) Mention two differences between operating leverage and financial leverage.

VeIE B K)’§ BB BEITOAT 73§ JRNYIT TR aiééaéﬁﬁﬁiidi gueiedAD.

(h) What do you mean by EPS ?

‘%8 BedT nYE od wEesesd ?

(i)  What is book value of equity share ?
g3 Bechne) LPs SR, doBderd ?

() A Company issues X 50,000, 8% debentures at par. The tax rate is 50%. What is
the cost of debt ?

e3 Foso®odn T 50,000, 8% &woesdm*ag MRT BVYISN VBINRE SREDE. 301 o
50% 7008 WOBSE 0T dga"eab P

(k) What is permanent working capital ?

Eag:-i BOBO3WEE WOBDY DOTWIER ?

()  State any two dangers of inadquate working capital.

MIRNRDET TRERAZNSD WOBDYE 030xy)t3e ATED @m&bﬁv@ BP0,

0 000 O A




3 36421/23425/ D210/ D250

SECTION - B / Qi - W

Answer any three the following. 3x5=15
TUNT Wewow SweTT GLZDAD.
2. A firm whose cost of capital is 10% is considering two mutually exclusive projects

P and Q. The details of which are :

Project P

Particulars Project Q
Investment 70,000 70,000
Estimated Life 5 years 5 years
Cash in Flows (%) : year 1 10,000 60,000

year 2 20,000 40,000
year 3 30,000 20,000
year 4 45,000 10,000
year 5 60,000 10,000
Total 1,65,000 1,40,000

WOBPYT 3523 10% T&THI ﬁoéai/aoci) P 3582 Q 202 TR HOFT HFes00 Qiraeasa'ﬁ’ﬁe}ﬁ&?
SONEFST. VTO DT :

AJOH adeend P adeexd Q
DABT 70,000 70,000
eI0TINT LITY S FREMD S SReried
BB weB0P ) : S=e 1 10,000 60,000
IR 2 20,000 40,000
S=e 3 30,000 20,000
SR 4 45,000 10,000
33 5 60,000 10,000
Wb 1,65,000 1,40,000
Compute the NPV for the two projects present value of ¥ 1 @ 10%.
Year 1 2 3 4 5
P.V factor 0.909 0.826 0.751 0.683 0.621
@gﬁi GO dj’aoédai&) B0RHBOD. F03 IPe), B8 1 10% Tos.
SIRE 1 2 3 4 5
TS SPOE @08 0.909 0.826 0.751 0.683 0.621

AR A AR IR
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3.  Distinguish between over capitalisation and undercapitalisation

8e WOBRVETTE R0 TR WOBNVETTEANY TEIDT 893 HeP0.

4. Smile Company has a total turnover of ¥ 2,00,000 per year with variable cost of
T 1,40,000, fixed cost of ¥ 40,000 and its capital structure consists of debentures of the
face value of ¥ 1,00,000 carrying 10% interest.

Calculate : (i)  Operating leverage
(i) Financial leverage
(iii) Combined leverage

3 ,0° FOBIOD THAET weobd X 2,00,000 BT BB wHeRrbs 5% X 1,40,000, 3T £
% 40,000 538 ©9T0 worme% 02800 1,00,000 SR 10% WHODL MOTINT) BB,
BoBHBOWD 1 (i) ABEDED Y

(i) eoTAT IY

(i) R00d0F AP
o

5.  Nikita Steel Ltd. Mumbai issued 20,000, 10% preference shares of ¥ 100 each. The cost
of issue is 2%. Calculate the cost of preference share capital if :

(a) Issued at par.

(b) Issued at a premium of 10%.

D) aecﬁ @. F0oWoL ¥RIF T 100 IwWSad, 10% &@dd BT, 20,000 6:365
éecbm}ag BT m&mgd DBTFe ﬁzg 2% dag 20T e, éedmeéag B8 FYNT08 DBTw»
woaage;,, agas Bedony mgaﬁa‘i*) F0BL&BOD. ’

(a) a0 3SR HIVRGS,

(b) 10% &030808 HSOIFS.

6.  Explain the factors to be considered while estimating working capital requirements of
an organisation.

WO w‘ogod) BOB03VST WOBSRYT e&daﬁﬁé‘ﬁ%ﬁﬁg BIOWIED doédomn’ ®OnedReson
0BT DRDAD.

ORI o
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SECTION - C / &yeni - &
Answer any two of the following. 2x15=30
FINT Wezow HTBY evgdAD.
7.  Briefly explain the functions of financial management.

BEATOAT Va3 B0t TODFTIVR) Fogmgsen D3020.

8.  Sachin Co. has equity share capital of ¥ 10,00,000 divided into shares of ¥ 100 each. It
wishes to raise further X 6,00,000 for expansion programme through one of the following
sources :

(a) All in equity shares
(b) X 3,00,000 in equity shares and ¥ 3,00,000 in debentures carrying 10% interest.
(¢) All in debentures carrying 10% interest.

(d) T 2,00,000 in equity shares and I 4,00,000 in 8% preference shares.
The Company is expecting EBIT of ¥ 3,00,000. The Corporate tax rate is 50%.
Determine EPS in each plan and suggest the best source.

20 TomM0dD 8w X 100 Swawidod X 10,00,000 SR Qg3 5@63@&3 BRODT. VW
&8 T 6,00,000 nesd) uowmvw@ 85 F0me odeewdi 8 FYTOB BeOnVon BRI
WODROBTS.

(a) DYBTR BYE Beconte) Fews.

™

(b) ¥ 3,00,000 B3ES Bechrigh 0= X 3,00,000 MY 10% WBET Be0BTT TWOBITY
IROT.

(c) agaidg 10% wWBEO BR0BTIS WODHIY B

(d) ¥ 2,00,000 ai)’ae)éd 'agag Fecrigh =03 T 4,00,000 1Y 8% o038 Be0D30 &Eﬁ
Betons WeeT.

S0m00d  3,00,000 Rva) wE B8 301 BPIFE wod DDeFHES. 301 TS 50%
R ORROZES

%8 deeriohd swo FedS ri%ajo@t ToBOLEOWD A Q:Sts’oé'\_sjab WOBNOPT
ah/ae)ai@ FOD VeBD.

AP0 60T A

BT
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9.

10.

Laxmi Ltd. has the following capital structure :

4
Equity shares (2,00,000 shares of ¥ 20 each) 40,00,000
10% preference shares 10,00,000
14% debentures 30,00,000

Itis ascertained that the market price of equity share is ¥ 20. The Company has proposed

dividend at ¥ 2 per share. Shareholders expect growth rate at 7%. The Company is

under 50% tax bracket. '

(a) Calculate weighted average cost of capital..-‘An

(b) Compute the new weighted average cost of capital if the Company raises an
additional ¥ 20,00,000 debt by 15% debentures. This would result in increasing
the expected dividend to ¥ 3 and growth rate will remain the same but market
price per equity share will fall to ¥ 15 per share.

o§¢ QAODBY) FENT0S WoB=S dzsisoi)@t BRODT.

z
2ge3 Sedorieh (X 20 swedeod 2,00,000 Sedoried) 40,00,000
10% @3 Bedoried 10,00,000
14% OBIred 30,00,000

B 2888 BeOT T BE T 20 9. F8 BB T 2 God eRRoBHT Dewen Fomdodn
HRHRE, Becomaddd 7% wvetedt GUS) DDe8RIBS. B0 50% 301 egatmerigd
(2) RORRO 2PBT WoBTY PRy FoWOBD.

(b)  2om Ses FomDado BOOIRN 15% WRES BROAHR X 20,00,000 TR
MOTIY Fo0B ForSITY, IVeI3 woywod T 3 § BROW, WIS I wdde
Be3dRNTO 338 538 BeOR axraszeiod 1368 X 15 § APaOT. REDoweIES &ed
ROORD BT worTY P TOFHRD.

From the following particulars relating to Sourabh Company Ltd. for the year ended
31/03/2018. Calculate the working capital required.

N .
Sales at 3 months credit 15,00,000
Cost of raw materials 6,00,000
Wages paid (15 days delay) 4,80,000
Manufacturing overhead (one month delay) 6,00,000
Administrative overhead (one month delay) 2,40,000
Sales promotion expenses to be paid in advance 50,000

The suppliers of raw materials allow one month credit. Raw materials are held in
stock for 2 months and finished goods are kept in warehouse awaiting sales for 1
months. Cash balance to be maintained is ¥ 50,000 and 10% margin for contingencies
to be provided for. The gross profit is 20% on sales.

A 000 0
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AT Fomd D0BEwS T3 31/03/2018 6 EARR0E IR Eﬁoaeoéodoab 88 FINT0d
VeBwIT. BAgONE BHBodvss uoda‘a%‘wm TOBGHBOWD.

3
Se00¢3 (3 8orie evEd) 15,00,000
S5 ABIY o5y 6,00,000
3ed B8 (15 BSE Heiow) 4,80,000
RTIob BB Sggried (1 oriy Hejow) 6,00,000
SEPIS 9SS Segried (1 Sorie dvow) 2,40,000
o0t Fdedod S (worE mess) 50,000

T3 ATBOYS RRTYTETD 20w Sorie B0 Pz derded. TR BT 2 Sorw=dr
csaw(‘\’)deﬁd)s:j’ 03 ,odasnumb maoaédﬁ aifacfen ORIV Bomb WIRVBITZSS. Fricd
ebe) 3 50,000 ab mainﬁm@ﬁemrbéd ) eac‘\’)ae%é a"asm?mﬁ e 10 dmg *‘eadr\g)‘
éﬁ@céoarb@cs abaoawd ;bed 3e. 20 B3O 2ed) owwm c‘\’)ae&o@am@’d

SECTION - D / &poni - &
Case-study Compulsory question. 1x15=15
@i‘fd?@%&(fg&bd (B0l g?:)
11.  Followings are the information extracted from the Balance Sheet of Abhinandan Ltd.

Liabilities 3
10,000 equity shares of ¥ 100 each 10,00,000
2000 10% preference shares of T 100 each 2,00,000
Reserves ) 4,00,000
Current liabilities 4,00,000
Total 20,00,000

The average rate of earnings in case of similar companies is 20%. Ascertain whether
the Company is fairly, over or under capitalised if the earnings available to equity
shareholders are :

(a) ¥ 1,50,000

(b) ¥ 2,80,000

(c) X 4,00,000

Further Suggest the remedies for over capitalisation and under capitalisation.
BPTES ©. S0 s BITAD 80t Bt BFAT0SE,

A D00 0 0 0

P.T.O.
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DR BIMOTNYD 4
% 100 Swa23e50d 10,000 Zesew; Sedorieh 10,00,000
T 100 Rwawiesadr 2,000 10% &@’&éw Becorieh 2,00,000
QTN VY 4,00,000
B0 @ETBMOBTNY 4,00,000
bd) 20,00,000

vl 30T FFHITBY J0RD oyl Je. 20 d%\d. Fe00R BeTODTON WRTHS el B3
FINT08TT.

(a) ¥ 1,50,000

(b) ¥ 2,80,000

(¢) ¥ 4,00,000

F0mIOD WOBYETTER) odveery WOBYCTTIRNE03e, 98¢ WoBYCTTITNT0de
OG0 RN WoBDYEBTEINEODE DOUWTBR) FoBHROND. BT e WoRBwVETTEI
) BB uodmﬁ?e'o’deaig 0O RR23R0.

-00o0-
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BUSINESS COMMUNICATION
(RCU Regular & Repeater)

Time : 3 Hours Max. Marks : 80

Instructions : 1. Answer all Sections according fo internal choices.

&0307 eﬂa:g) Geo0 DCR DGIRNET V3OO,
2. Question number 11 is compulsary.
gd 702) 11 5@0VDA

SECTION-A/ Qyen- &

1.  Answer any ten of the following : 10x2=20
Weton 3 SINVIT GUSDAD.

(@)

(b)

()

What is business communication ?

RDDH0 F0DBDVR0BTER?

State two objectives of communication.
ROTBRE DTB) GVZEBTR) &ed0.

State any two essentials of effective communication.
eUEE) FOBBIE HTVRE) WBTT WoBrie) Hewd.
What is Writing Skills ?

wWOSESiod FIBOSoTTERD?

State two steps followed in Writing Skills ?
woBediod TIBW DR B0 HePO.
Expand the following :

(i) COD (@ CWO

83 FINTYNYR) DFOAD :

(i) 28 (i) A.BwRb.

What is letter of enquiry ?

D23V HZWoWTERO?

What is Complaint letter ?

350000 ©80ETER?

PT.O.
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(i)  What are bad news letters ?
Fé DY 28 rPdorsesd?

(j). What is business report ?
FFB0E ITD 20BTeD?

(k) What is bio-data ?
83,0303 20BoD wBoBBER?

() What is an interview ?

Pelntolanmieinieln ol

SECTION-B/ dyori- w
Answer any three of the following. 3x5=15
Wesar Swedd mFnrf evgdad.
2.  Explain the Process of Communication.

ODB® gz}}oﬂ)&b@ DSORD.

3.  Explain any five essentials of effective communication.

PV FOSBERE 03RDTTA VW) BIST eozﬁﬁe}@t QIOR0.

4.  Explain any five parts of business letters.

0edey, BYNY 0BT €T3 Orires) QI0AD.

5.  Discuss in brief steps involved in writing of reports.

R0 eﬁd@ﬁ@ﬁg 303DT DA 603!‘1'{5?\9 QRDAD.

6.  Write a letter of enquiry to M/s Gajanan Book Depot Belagavi requesting them to send
their latest quotations of books of BA/BCom/BSc I*' Semester.

Do/ Deoo/ Dy JeCe IREB (FDFJ) BPENY IS HeJodb) FPVF0S DTS
Sl 2SS woB® Bope, WEMD VBN DKt g, WB0AD.

IR ERRVTRAT
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SECTION-C/ Qyen- &
Answer any two of the following. 2x15=30
W35 VB BINVIT GUZOD.
Explain various barriers to Communication.
ROTBOD VESENTT) DBORD.

Explain various types of business reports.
wJed el TTOT FFHe0s ddfﬁﬁ%ﬁiﬁg QH0AD.

Write a letter to M/s Sai Electronics Belagavi requesting them to supply 25 TV sets
within a week period.

WOTD VB w1 25 &3@ Re3° YR Fpdpuesorh HP0dRZ il Ao Qdﬁgc‘\’)ﬁ:, WD
230N WIeRT wg WBoD.

Prepare a letter of interview for the post of lecturer in Commerce.
o edt DFODT NBORATT Socgr? AT 9286 TS RTTN IR a’ode}mﬁ; BZOAMIR0S
DV0ERZ FOWTER %8, 303000RD.

SECTION-D/ Qyon- @
Case Study (compulsory) Question. 1x15=15
B0 BT (FBgodD) 23
(a) Being one of the members of interview committee, make a list of 5 questions to be
asked to the candidate who attend interview for the post of accountant.
3 W) ROWIEN B30 RBZB0W YDA F0k3083° BOGT 50d8ra§§ WOOR
3 BENVr TSN Sedwaomed amd @gﬁ@é 63 BRBO.
(b) You are the administrator of one of the educational institutes. Students have

complaints about drinking water facility in the campus. Being administrator
how you communicate it to management & students to solve the problems ?

3o:y) 8geo To’ogab Elaivental.plelevsoiy SeazrieodRed. BBAIE DedS AR, B0
DWUPFNYOT BECITL HF, WA, S8 AFR, WiiBdRen Desy) BB FoBY =8y

oMo Bert FoTBS SBDO?

(¢)  You are General Secretary of the college. Annual day function is to be arranged
in the college, prepare agenda for annual day function.

By Wy TSRS FHODFEBradBA AT Few RREITE DB ameoe e (elowme)
c{ebvplelite}

-00o0-
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ECONOMICS

International Business Economics
(RCU Regular and Repeaters)

Time : 3 Hours Max. Marks : 80
Instructions : (1)  Answer all the four sections.
BRI DCQ VPR Qe evadRo.

(2)  Answer to Section - A should be written al one place in the given sentence.
DI - € TG DEP QIO sodde & wdad.

(3) Dwaw diagrans wherever necessary.
erng QCVTE zfg’ﬁ%f(z) 02320,

SECTION -A / Qo1 - @

Answer any ten of the following in 2 or 3 sentence each : 10x2=20
BINT Jezow ®gg 2 - 3 @05,1¥¢) WD :

1. (a)

What is International trade ?

080°Tage0d) ;00 QOB ?

What is Import trade ?

SROW) 99,300 DHOWIER 7

Who advocated the comparative cost theory of International trade ?
©9080°De0d TI0GE BOTT 5P A0SR S OATSR 0ddd ?
What is Balance of Payment ?

Boweod) wWed eowsesd ?

What is Forward Fxchange Rate ?

Boorad VS0 FO Qowdesd ?

Define Terms ol Trade.
mémd jerieblal méé% BRB.
Expand NBTT.

o 0.88.63. (NBTT) 0y O30%0.

PO,
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Questions :

@gn’da 3

(a) Give the meaning of Balance of Payment
Jomead) 2ed0dd &9(5?;56&) 2B0W0.

(b) Prepare current account and capital account of Balance of Payment by using
above Data.

ORI ®08303%11Y FE20B0TW Fowoad) edod W) wed FIFY WoBDY
2093000%) S035e0RD.

(c) What is the Balance of Payment position of America ?
©ed%e B5e3w Fowwod) wedod) 28 O 7

-00o0-

AU AT AR
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IV Semester B.Com.3 Degree Examination, May - 2019
MODERN BUSINESS LAW
(RCU Regular and Repeaters)

Time : 3 Hours _ Max. Marks : 80
Instructions : (1)  Support your answers with Section numbers, case and examples.
RTINS ; FO0 DTS, GEOENTEY DB QVRBTFDTP0T a‘?:Dé) avgom@ @%&ea’&%a

(2) Al question are compulsory except internal choice.
&0808 &QY) &RODTEH IR G/ @AV,

SECTION - A / dyoni-o
1.  Answer any ten of the following in one or two sentences each. 10x2=20

FINTHYNIN Wesors 5"3’?2 2,088 eIt DeCE0S GugdD.
(@) What is Business Law ?

e TYOD DoBWTERD ?
(b) What is meant by the term consideration of contract ?

WROBT BEHFO D0BTE ?
() What is free consent ?

S0 Fe)8 DoTTER ?
(d) Give any two examples of agreements declared Void.

IRV BP0 f..me&;o’g%s WBOWETNY VR YVWOBTH VeB.

() What is meant by performance of a contract ?

WROBT BeT3e0T 2owvesd ?
(f)  Give meaning of discharge of contract.

WROBT DITED D03 ?

(g) Define the contract of guarantee.

ZIDECTOOT ugoddq{ mésJaéc\’)%.

2T,
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(h) What is contract of bailment ?
Dbemee wPow HoBTED ?
(i) Whatis RTI?
S0&d ﬁﬁg (R1T) o@desd ?
(i) What is a Cyber Crime ?
ro;uoc 09RO DOWTER ?
(k) Who is a minor ?
eaRE S00PBowT 03Ty ?
()  Give the meaning of indeminity.

T8 HOTTT BT DITES BRBO.

SECTION - B/ &yon - @
Answer any three of the followings.

BSNSYVTT evord BoevE U3DA0.

2.  [Iixplain briefly the elements of contract.

0T We0wY) WTiRoBTOR ©odrid wi Rogmmen DR00.

3.  [xplain the “Doctrine of Supervening Impossibility”.
“ g3 8od 3%@06:5 QRBEROD ?oogoswﬁa)” QD=DXD.

4, Tixplain briefly different kinds of guarantee.

wEWDTOD PNV Sodemen DBOAD.

5. Distinguish between pledge and bailment.
ez S8y NOD wRoTY FBYINUR) wS0D.
o = @ a

6. Write note on the Constitution of Central Information Commission.

Beoq Bk wodeerid FosuI0d 5008y €3ges WE0D.

VNN

3x5=15
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SECTION - C/ &woni - &
Answer any two of the followings. 2x15=30
NSNS Bewors S0EE VDD,

7. What is legality of object ? Explain the circumstances where the object of contract
become unlawful .

méo.bwg 5B 0wBeR) ? wrEowBFaD ovgded odoess RoTIeried) mgsabwgaaﬁw@ag
DR,

8.  What is discharge of contract ? Explain the modes of discharge of contract.

WROBE DIWER DoTSe) ? WROBH DFWERFOD :)qmamvag DI020.

9. Discuss the nature and extent of Surety’s liabilities.

ZRAEITITT BRBMROFTOD Joem 8 8ok Bd) 2eERD.

. 10.  Explain the types of Cyber Crimes.
RWO* B0 w‘_’,‘@dﬁﬁi@ DDORD.

SECTION - D / &weni - @
Case Study Analysis (Compulsory question). 1x15=15
FTOEY VoS JFewes (BEgad 7).
11. (a) ‘X invites ‘Y’ to a dinner at his house. ‘Y’ accept the offer . "X’ by spending a lot of
money makes grand arrangements for the dinner But Y’ fails to attend the dinner,
Can X’ recover the loss sustained by filing a case against ‘Y’ ?
X' 20W0TITO Y’ AW TG 00T IF ST BT 33008, £0De0INTY .
Y’ 00w 65300898 BARHB) WweBRWTS. ‘X & WHYE) BeBT) 3,00 BB eLe6ss
=1 d @ ¥ L8 o
T SPBATSYS. B3T3, Y & kST ?x’imerb@dag &S, ‘X' BB VG
IO Te;0deeabEg ‘Y’ DTG w8 FeB FJeew TRBWHIW ?

AT AR — P.T.0.
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IV Semester B.Com.2/B.Com.3 Degree Examination, May - 2019

BUSINESS STATISTICS (Paper - 1I)
[Regulars and Repeaters]

Time : 3 Hours Max. Marks : 80
Instructions : (1)  Use of simple calculator is allowed.
AR A0 NEIs0D0ZE CVTAIREID) 0BT BN

(2)  Stalistical tables are supplied on request.

02T e sanaine) eedsaly edrf Gedaeerbad

SECTION - A / 01 - &

1.  Answer any ten of the following : 10x2= 20

3eINS Wezew 10 ¥ GLgDAD !
(a) Write any two properties of binomial distribution.
defae@; DYTE0D TR rEOFENTS) WB00.

N

(b) Calculate mean of binomial distribution for the following : n=6 and 4 = -

(68)

SRS}

gédmeé DITF0D n=6 S 9 = - [P VBT JTRO FoEIBOWD.

-

(¢) Standard deviation of Poisson distribution is 9. Find its X (mean).

BPRS DSTEB0dh FBRT, DBV 9 AYN WET oI (X ) ForHBAWD.
(d) What do you mean by positive correlation and negative correlation.
(ﬁmgﬁ 308) 3Feegs RBI0WOPNFoTITERL ?
(e) State any two merits of rank correlation.
Beed FBR0WOT THEm0sE STR) Yumdeennivn) wewd.
(f) Two regression coefficients are 0.8 and 1.2. Find r’.

STE Horem Miseosrih 0.8 HF) 1.2 9gS ‘v’ S FordbBod.

PO,
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(g) Write any two properties of regression coefficients.

0BT MIF0TNY HTED rbmqiadarrﬁ%f&ii SPAD.
(h) Define Standard Normal Variate (SNV).
VoS HH0eT; BOTE @9a) BRRED.
(i)  What do you mean by control chart ?
Vo0 e W3 F0BTET ?
()  What is process control ?
0308 Dodogen aordesd ?
(k)  Find area to the right of Z=1.25
2=1.25 T wowd 9v)a 3% FoEOHBAD.
() Define Transportation problem.

ANREIS 3&’)3#;6 m?sajé FRED.

SECTION - B / &% -
Answer any three of the following : 3x5=15
NS Wesow 3 g oUgORD :

2. Inacollege 60% students are boys. In a random sample of 5 students, find the probability
that (i) 3 are boys (ii) all five are boys.

w0t FoderiDY) @BINT Foad 60% B, BFTIN SFEBRE0E 5 QWPeNY (i) Swodd
BB (ii) DY S &F BB V33 R0gI30e0oT) BorBLBAWD.

3. The number of mistakes made by a typist follows a Poisson distribution with mean 3.
Find the probability that he makes (a) no mistakes (b) at least one mistake.

Wy YOURLG BREL v Roa, F00ID 3 WOV BpEwRT DESHBAT YIRS
w3 (a) Sayrivife SREG (b) 595 wowh 35 SR@E3 FouDeodBodr) BoBLBO,

4.  Tor the following dala, calculate Spearman’s Rank correlation coefficient.
59 Bokd I9RT A0LOTRR® Beed FmRowor MFsR0TRT) ForGBEOWD.
X» 39 65 62 90 82 75 25 98
Y: 47 53 58 86 62 68 60 91

G
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5.  For the following transportation problem, give solution using North-West corner rule.
Destinations
Origins I I 11T IV Supply
O, 8 10 5 6 400
0, 7 5 8 4 350
(02 4 7 11 9 250
Demand| 200 300 150 350 1000
& FYNT Tonoedd Farii Dare -33° TomE O GO D0E ©0BITTH) T0@IEGBOND.
BRI’
[Aelssing I I 111 1Y RPTT
O, 8 10 5 6 400
O, 7 5 8 4 350
O, 4 7 11 9 250
ARE 200 300 150 350 1000

6.  Explain the construction of C-chart.
C- i8xtd Cu3RoR) DHHOAD.

SECTION - C/ yon - &
Answer any two of the following : 2x15=30
FINS et DTVEG L0ZDAD :

7. (a) An unbiased coin is tossed 8 times. Find the probability of getting - 7+8
(i) all heads (ii) 5 heads (iii) 7 or more heads.

WO WOYT&E VoI 8 O DF0LOING. &3 (i) ©Q B BE® (ii) 5 3© BE® (iil) 7
ORI B 30 BE* BEdS R)’O?Jd@@&i)é’&i)fﬁ;? FOBIGEBOWD.

)
(b) In a certain factory turning out of optical lenses, there is a small chance of 500

lenses to be defective. The lens are supplied in packets of 20 each. Find the
number of packets containing - (i) no defective (ii) one defective, in a lot of 20,000
packets.

WO TR N0 035ORIS B8TO° S’ wggwe;, 5_(1)6 Os) S;m800008
TLPRTVZS. B8 BLTOF dwfﬁr{e}a&) 20 G S3E3rinele) BPGAWS wos® 20,000 Se3rne,

) BEHY (i) FTS B0de BEB0S) 308) (i) 2,06 eS8 AABoSBONES ?

AV

RO
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8.  Solve the following transportation problem using : 15
(a) Matrix-Minima method
(b) Vogel’s Approximation method
Destinations
Sources D, D, D, Supply
S, 8 5 500
Sy 9 200
S, 7 4 100
Demand| 600 100 100 800
g8 FUNS Fonoedd :Ja'bfgodoidgt -
(a) SoRtdTe-oEme e Terte
(b) Spried DRI DFE° YYrYow DB
BATeSE
Aeedx® D, D, D, EyClel
S 8 5 500
S; 6 200
S, 7 4 100
WeBS 600 100 100 800
9. (a) The following data relates to the age of husbands and wives. 5+10
Husbands Wives
Mean 27 years 23 years
Standard deviation| 3 years 2 years

The coefficient of correlation is r=0.93. Estimate the age of a wife whose husband’s

age is 25 years.

Beirt S6J0oe3 Do) Mo BWOBT ST F020HHE,

No@oTY | Bow8oHo)
PO P0) 27 IRerieh | 23 IReried
FOTE DBOS 3 IRerieh | 2 IRred

ABIOWOR MFee0s r=0.93 YB3, MoBEs SR 25 JIREMVTT Bo@dad ;Qi)ﬁ‘—"&

900,

Calculate Karl Pearson’s coelficient of correlation from the following data.

BINT TR0 ToOF HODRE VT FBROWOH rbmoéadd&) FOBOGBOWD.

X: 100
X 98

T il

99

101 102 102 100 99
99

9755895

97
95

98
94

96
90

95

92 91
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Write any five properties of normal curve. 5+10

BARBT; WHB odR)ce D@ rOeag3sor 9R) w3oDd.

The average weight of 1000 students in a college is 55 kgs. with standard deviation
of 10 kgs. Using normal distribution estimate the number of students whose weight
will be :

(i) less than 45 kgs

(i) between 45 kgs and 60 kgs.

20T B9e3e2SRE) 1000 D Re M) F0oRD BT 55 8.1M90. S0 FoenE HBOW 10 8.Mo0.
9. GBI, DITFBODT) GVFdeENS : |

(i) 45 8.mo.Nog FR

(i) 45 8.M90. BB 60 &.1R0.7MY BEII 308 BROBTIN duyPery Foad,odw

900 0.

SECTION - D / &pr - @

Case Study Analysis (Compulsory question) :

DI VGO (TwERodD %3)

Construct X chart and R-chart for the following data and state your conclusion. 15

BINT DT X $38k3 08y R-23gHenv) Ce3AD &) O3 Qear 0BT DeP0.

Sample No. Sample values
QBT Boa, ABBET WS
1 27 22 28 10 12
2 25 24 26 14 92
3 16 24 20 18 31
4 18 12 21 13 17
5 16 27 20 16 12
6 06 18 14 26 13
7 43 19 36 28 32
8 12 09 24 20 30
(Given for : n=5 A,=058 D;=0 D,=212)
(Bots Forid : n=5 A,=058" D=0 D,=212)

-00o0-

(TR
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IV Semester B.Com.3 Examination, May - 2019
CORPORATE ACCOUNTING - II
(Regular)

Time : 3 Hours Max. Marks : 80

Instructions : 1) Attempt all sections according to internal choice.

50898 &0 GeoT DR, et evgO0.
2) Simple and non-programmable calculators are allowed.

FOY @orte Fo0lecETRNG Measaleg evaadecvaEIw.
3) Give working notes wherever necessary.

&550DS &iged IeE0.

SECTION - A / &zeni - &
1. Answer any ten of the following : 10x2=20

9N WJesod 10 c‘g’g):ﬁ@ﬁ UZDAD.
(a) What is purchase consideration ?

ifaod)ﬁfae},v)'ai 33 omdesay ?

(b) What is creative accounting ?
xz)m&agﬁ £9590830N°¢ OB ?

(c) State any two funds which are treated as liabilities and transferred to Realisation
account.

BRRMDE D0 TORS: FrDesc andi 3K Beers odpw@Ee H0E O
(Funds) rie) 8920,

(d) What is the journal entry when creditors sacrifice part of their claim ?

AN 31 wokieser e gg ?paﬁaiapt ol BB weNS BRe) WTH maa)ﬁai)ag
QeROD.

) 4 (10 1
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() What are the kinds of reconstruction ?
FomA0D FHVO TLBOD FFOONEL adweye) ?
(f)  Give the meaning of Forensic Accounting.
V9,00 GFBITH (PPVE®) e5R0k3on® dowdesd ?
(g) What is Realisation account ?
SNREBTED 3308 0BT ?
(h) State the steps in accounting for Amalgamation.
FowR) DDeQeTTT 9520830M°3 &osmmg 893D.
() How do you treat unrealised profit in consolidated balance sheet ?
NYEodeNoe Qoo OIS BeBerE vpesS BT Bert TOMIHND ?
()  State the types of subsidiary company.
BHES ToHI0D FTPTMUR) 8920.
(k) ~ What is cost of control in Holding Company ?
&RFY TowdobhY dodogen 3% owdesd ?

(I) ~ What are the methods of accounting for Amalgamation in the books of transferee
company as per AS - 14 ?

AS - 14 O F50 @3 500D TRBEE) DSeRes0en eR0e3nt e Spomrieh odemy) ?
SECTION- B / ent - @
Answer any three of the following : 3x5=15
BINT esor Fuedd 2FnFr evgdAD :
2. Distinguish between pooling of interest method and purchase method.

ARs3IT; BoRY TomREINE (Pooling of interest) orie 2O 238N ST qsaaémvag
8930.

(T T i
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(¢) What are the kinds of reconstruction ?
FoxA0d PV TCBBOD HFTEL ade)y) ?
(f)  Give the meaning of Forensic Accounting.

9,00 FIBITE (HEVAT®) WEP0t3on® owSeRd ?
(g) What is Realisation account ?

JNReB0 8908 HoBWTeRD ?
(h) State the steps in accounting for Amalgamation.
o) DODeQETOIT 959083003 603{1@5&4) 8920,
()  How do you treat unrealised profit in consolidated balance sheet ?
nYE03eNcae Qs DRI BeBess wgesS BT Bert BOMEIHND ?
() State the types of subsidiary company.
RET FoHAOD K’J)a‘adﬁﬁéai&) S9D.
(k) What is cost of control in Holding Company ?
SRSY F050DY Dadogen % omderd ?

(I) ~ What are the methods of accounting for Amalgamation in the books of transferee
company as per AS - 14 ?

AS - 14 O $590 @7 30a000h PRBEE) HOeATTENR 5R0630rTE Dppmnied odwm) 2
SECTION- B / yon - @
Answer any three of the following : 3x5=15
FINS Wesod FJwetd SInIr evgdAD :
2. Distinguish between pooling of interest method and purchase method.

e, &9y 5EIE (Pooling of interest) Torte VD SIS DHT vy
3920.

AR
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3. Sahana Company Ltd., decided to go in for internal reconstruction . Following is the
scheme of reconstruction :

(i) 20,000 equity shares of X 10 each fully paid reduced to ¥ 5 each as fully paid.

(i) 10,000 preference shares of ¥ 10 each fully paid reduced to shares of ¥ 5 each
fully paid.

(iif) 100, 10% Debentures of ¥ 1000 each converted into 500, 6% debentures of ¥ 100
each.

(iv) The debit balance of profit & loss account of ¥ 50,000 and preliminary expenses
of ¥ 60,000 were to be written off.

(v)  The value of plant and machinery and s.tock were written down by < 30,000 and
< 25,000 respectively.

Pass journal entries in the books of the company.

Jdoe om0 O. 8030F YD TVBD ﬁaa&&ragoo APE0AT. 80830F DT TV
odeezRoin 8 FPAT08E -

(i) I 108 Zpeeor Soweodmed 20,000 FRTIT; éedorw@ % 5 0038 @0f 30000eR
Fedon¥n A¥ReeNtI8E.

(i) X 10 O Feor Joweadeen 10,000 5937 Secories) I 5 Cod Hpeas Jomaodmet
DB, BeTndn APIRNTIZE.

(iii) 100, 10% FOBIMEH T 1000 MY SNDISHTNT, Brvsy T 1008 500, 6%
ODIMIIN HODSERTNT.

(iv) o3-S 030 Is HodoD 5 T 50,000 Forie DESELRN &$ X 60,000 T
3B BTOR)W.

(v) RS 8y abodeessct ®ore J08 Beyridny gz T 30,000 serie I 25,000
oK) sBBoriedeena.

Fomod Beexd a:aa"mfaii ATHBAD.

[AMERRERRTSST RA P.T.0.
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4.

From the following information calculate Minority interest and Goodwill

Particulars Vikas Co., Vilas Co.,
3 4
Share Capital (shares of ¥ 10 each) 2,00,000 50,000
General Reserve on 1.4.2017 30,000 20,000
Profit on 1.4.2017 40,000 10,000
Total Profit for the year (1.4.2017 to 31.03.2018) 50,000 25,000

Vikas company purchased 3,000 shares of ¥ 10 each of Vilas Company for
¥ 75,000 on 01.10.2017.
8 BINT DBTNP0RE QF037T FeTOHWIT BPOTT) Borte BedF FPHT) TOBHBOWD.

ARONYD DT TO. DRI FO.
Bedh woBxwey (T 10 S Bedoried) 2,00,000 50,000
maﬁa‘aaﬁs @Q‘i{g&?\)d 0f (1.4.2017) 30,000 20,000
ooyl (1.4.2017) 40,000 10,000
TG SRS wed) oo (1.4.2017 Do 31.3.2018) 50,000 25,000

o3 BORD0IN DR FosR0d T 10 mnDeIady 3,000 é’eo’on’ﬁm;z T 75,000 §
01-10-201700%3) DOeDHATIZT.

Akash Ltd. agreed to take over the business of Bhoomi Ltd. The share capital of Bhoomi
Ltd., consists of 9,000 equity shares of ¥ 100 each fully paid and 4,500, 10% preference
shares of ¥ 100 each fully paid. The Debentures are 12,000 of ¥ 100 each.

Akash Ltd. has agreed as under :

(i)  Toissue 6 preference shares of X 100 each for every 8 preference shares in Bhoomi
Ltd.

(i) To issue mortgage debentures in Bhoomi Ltd. which are to be redeemed at a

premium of 20%.

(ili) Toissue 5 equity shares of ¥ 100 each at the market value 0fX120 each in exchange
for every 4 equity shares held in Bhoomi Ltd.

(iv) To pay cash of ¥ 25 per equity share. Calculate purchase consideration.

508 . 3368 ©. BoBI0D FFHTST Srichiegen &0, 13RS ToHAOD BeTh WoBTYED)

T 100 G @pef F0we0dwer 9000 JeeIom; é’edorﬁeéag. Z 100 T 2PE R0m030=0 4,500,

10% =983 Jedonsd) 287130088, T 100 T 12,000 Foowgith ass.

598 BonA0ID B FYNT ToCINIIT WweBR0BE

() e somdod 588 weay Bedriv?rt 100 BweiSod 6 weER; Bedonvw) QBT

(i) e FomAoD MOTYNFR) 20% £e030RY BoTERHS SIRBIZT.

(i) 23RN FoBAOD B 4 BT, Secun?ri, wved Bom®odw T 100 T Iwadedod
5 Rossior; Besonds) Boetses Weodnd X 120 308 QeBTT.

(iv) ®8 Aewes, Jedrt X 25 Jod I Oaned DerdRT. NDDeB BoyRn0dw)
TowOSBOND.

What are the essential qualities of Forensic Accountant ?
PRONT® B5P0e30es° BT MLrich o3 ?

(IR
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SECTION - C / i - 8

Answer any two of the following : 2x15=30
BINT 2Iesots HTEG eV8DAD.
7.  Usha Ltd. and Kiran Ltd. decided to amalgamate their business and form a new

company called Ushakiran Ltd., which will take over all the assets and liabilities of

both the companies on the basis of the following balance sheets.

Particulars Note Usha Kiran
No. Ltd. Ltd.
®) ®)
I.  Equity and Liabilities
1 Shareholders Funds
Share Capital (X 100 each) - 12,00,000 24,00,000
Reserves & Surplus 1 6,00,000 3,60,000
2. Current Liabilities :
Trade payables : Creditors = 6,00,000 4,80,000
Total 24,00,000 32,40,000
II. Assets : :
1. Non-Current Assets :
Tangible Fixed Assests :
Machinery - 10,80,000 12,00,000
Intangible Fixed Assets 2 6,60,000 2,40,000
2 Current Assets :
Inventories (Stock) - 4,20,000 9,60,000
Trade Receivables (Debtors) 1,80,000 7,20,000
Cash and Cash equivalents : Cash - 60,000 1,20,000
Total 24,00,000 32,40,000
Notes to Balance Sheet :
UshalLtd. Kiran Ltd.
gl Reserves & Surplus : General Reserve 3,60,000 2,40,000
P & L A/c (Surplus) 2,40,000 1,20,000
Total 6,00,000 3,60,000
2. Intangible Fixed 3,60,000 2,40,000
Assets : Goodwill patents 3,00,000 -
Total 6,60,000 2,40,000

Following are the terms of agreement :

(i)  The purchase consideration o

paid shares-of ¥ 10 each.
(i) The purchase consideration of Kiran Ltd. is agreed for an exchange of 12 shares
of T 10 each fully paid in Ushakiran Ltd. for every share in the Kiran Ltd.

Prepare the Amalgamated Balance Sheet as on 31.03.2017.

RO

f Usha Ltd. is agreed at ¥ 19,20,000, payable in fully

P.T.O.
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evew ©. =) 30 O. 3m 3 aiaaddm QOeTRRYICD {\’Jdra,omad TN BRI YVEOETED
9 59 00RDTRT. B¢ 6@?\(—6 Zleom wéérﬁe} 355000 w0ees ma&a&de‘a &). B3 30N DTER
?iOoJ(‘OﬁQ} Q) éfaeanaaﬁ =08 SANYR) é’ﬁcﬁoﬁraodo @BeenROT.

DHTME S;;;j oose ©. 3060 ©.
& )
1. Fetd WoBY Hanse
WD 0N
1. Bedomds @6 (For°)
Bedd WoB=Y
(X 100 8 Bedri) = 12,00,000 24,00,000
QeFeD Y morte eyl 1 6,00,000 3,60,000
2. %9 wHoRdN
BREUIETIT D000 W)
FOBITOT T = 6,00,000 - 4,80,000
?»Eada)d 24,00,000 32,40,000
II.  es3ned :
1.  @Hobed esArh :
ReeesT J0AMED
030085 exTTE ~ 10,80,000 12,00,000
eafi;aez&d ISELIEN 2 6,60,000 2,40,000
2. w8 Bmﬁﬁb
TR (303 Be) - 4,20,000 9,60,000
WOLIETOTW 5000 WS ‘
(FROMPTTY) - 1,80,000 7,20,000
SHEH @orte BHEE Fedof : S - 60,000 1,20,000
W) 24,00,000 32,40,000
s Tl E3TeINed :
s OR Tone ey Rmdsadé 0B 3,60,000 2,40,000
©o3-TF 308 (©9) 2,40,000 1,20,000
whd) 6,00,000 3,60,000
2. . oneewd ,goa?gﬁeéo ; sy
$e8¢ [00e) 3,60,000 2,40,000
B3 PN AY) 3,00,000 =
wed) 6,60,000 2,40,000

wBOWBEOD TTITIME) B8 FPNT0SES.

@) evap O. o DB JoyesSodn I 19,20,000 (Spes Joweodeed I 10 &3 3edn
QEBIT)T)

(i) 80 O. & DD JoypRSodw, 808 O. B F8 Bedrk st O. B 12 Sedried
X 10 =8 B¢0r)
B3 Bom00D 31.03.2017 T &gess H3TODT) Sa3ORD.

AT AT
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8. RaviLtd. & Chandra Ltd. decided to amalgamate their business and form a new company
called Ravichandra Ltd. with an authorised capital of ¥ 15,00,000 divided into shares

of T 10 each. The following are the Balance Sheets :

Chandra Ltd.
)

4,00,000
(=) 60,000

70,000

4,10,000

3,00,000

60,000
40,000
10,000

4,10,000

Chandra Ltd.
®)

4,00,000

4,00,000

(=) 60,000

Patticulars Note Ravi Ltd.
No. ®
I. Equity & Liabilities
1.  Shareholders Funds :
Share Capital 1 3,00,000
Reserves & Surplus 2 1,00,000
2.  Non-current liabilities
Long term borrowings :
Debentures - 1,00,000
3.  Current liabilities -
Trade payables : Creditors 50,000
Total 5,50,000
II. Assets
1. Non-current Assets
Fixed Assets
Tangible : Machinery - 3,50,000
Intangible Asset : Goodwill - 50,000
2.  Current Assets
Inventories : Stock - 80,000
Trade Receivables : Debtors - 40,000
Cash & Cash equivalents : Cash 30,000
Total 5,50,000
Notes to Balance Sheet as on 31.03.2017
Ravi Ltd.
®)
Note:1 Share Capital
.... Shares of T ... each 3,00,000
- Total 3,00,000
Note:2  Reserves & Surplus
Reserve Fund 60,000
Surplus : Surplus Deficit 40,000
Total 1,00,000

60,000

Terms of Agreement :

(1) The assets and liabilities of Ravi Ltd. are to be taken over at Book values except
Goodwill, machinery and stock which are to be valued at ¥ 1,00,000, ¥ 3,20,000

and T 90,000 respectively.

(2) The assets (except cash) of Chandra Ltd. are valued at 10% less than the Book

values and the creditors are taken over at book figure.

Compute Purchase consideration and prepare the Amalgamated Balance Sheet.

(Amalgamation in the nature of ‘Purchase’)

TR

P.T.O.
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89 . Terie B¥ow, O. éaig ECRlen Y] DOeTTRRDVR WO BN BWOT O.7) Tuoes Qpess

=3

sdsaamgd 207 303903 Beom0S wWormeds) T 15,00,000 (38 Bedri T 10 Bo8 ) |vB.

e9goss LYTieh B8 FINT0SS.
3 €3 oD 9. Bow, O.
DFTP Sod, R MYY ) v
. Bt woBHeY BN HPadNed
1. 3Bedonedd 03°
Bedd WoBY 1 3,00,000 4,00,000
Qezen DY Borie oY 2 1,00,000 (-) 60,000
2. 3@ ¥R D)
Degrarm) FoQreD
OB = 1,00,000 =
3. w9 wewwgdrieh
3BT Deed WS
FR@BITITT) = 50,000 70,000
(SN 5,50,000 4,10,000
II. s3ndd
1. %9 8O BN
Sa»oa%jgrieb .
11eee3s : adog - 3,50,000 3,00,000
et eess : edr Sy = 50,000 -
2. 239 AL
oRR) & OB - 80,000 60,000
w0eToR wewed LW
(FROMPTTY) = 40,000 40,000
SR ToNe SN J) : JNdd - 30,000 10,000
uwg’ 5,50,000 4,10,000
9o @3B0l e3gedrivh - 31.3.2017 g o 9. ) @ow, 9. )
e33ed Foad; 1 Fedd WOBY 3,00,000 4,00,000
Wk 3,00,000 4,00,000
833363 308J; 2 QETED T o)
QEBD OY 60,000 -
ooyl : oY/ T 40,000 (-) 60,000
Wed) 1,00,000 (-) 60,000

%g0Bw BoRsoreh :

(1)

(2)

39 ©. @ dedr FPe), 0dog e WD) JoBOriUR) BATREA Y A Horie
wRnRORYR) BRFA WSH SREIBR0E) BACHTR. 80eIT BWRT) BANTT) TddeoN

Z 1,00,000, T 3,20,000 @orie T 90,000 0w S RIRBNG.

0% &, @ BYRYR (MR BRTDER) e BRTR WISHosewe 10% BRSO BP,TY
B ONS BB WS SrtcBR0E Vet

20D FoUPTS FoBBRR), BHAX WEYs BYFodR) S03ROAD (DDeesTeasy) ‘DD
psjefeExialJlal)

[T ETE e
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9. Deepa Ltd. purchased 16,000 shares of X 10 each fully paid in the Roopa Ltd. for X 20
each on 01.10.2017. At the time of purchase of shares, Buildings of Roopa Ltd. were
under valued by ¥ 40,000.

The following were the Balance sheets of both the companies as on 31.03.2018.
Particulars Note No. Deepa Ltd. Roopa Ltd.
®) ®)
I.  Equity and Liabilities
1.  Shareholders Funds

Share Capital 1 4,00,000 2,00,000
Reserves & surplus 2 2,40,000 1,20,000
2.  Current liabilities
Trade payables : Creditors - 60,000 80,000
Total 7,00,000 4,00,000
II. Assets
1 Non-current Assets
Tangible Fixed Assets 3 1,20,000 1,48,000
Non-current investments 4 3,20,000 -
7 Current Assets
Inventories : Stock - 1,60,000 1,28,000
Trade Receivables : Debtors = 72,000 1,00,000
Cash & Cash equivalents : Cash - 28,000 24,000
Total 7,00,000 4,00,000
Notes to Balance Sheets as on 31.03.2018
Note :
1 Share Capital
Shares of ¥ 10 each 4,00,000 2,00,000
Total 4,00,000 2,00,000
2.  Reserves & Surplus
General Reserve 80,000 60,000
Profit Balance as on 1.4.2017 (credit) 40,000 20,000
Profit for the year (2017-18) 1,20,000 40,000
Total 2,40,000 1,20,000
3. Tangile Fixed Assets
Buildings 80,000 1,00,000
Machinery 40,000 48,000
Total 1,20,000 1,48,000
4. Non-current Investments
Shares in Roopa Ltd. 3,20,000 -
Total 3,20,000 -

The Debtors of Deepa Ltd. included ¥ 20,000 due from the Roopa Ltd.
Prepare the consolidated Balance Sheet as on 31.03.2018.

AT A P.T.0.
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10. The working of Strong Ltd. was not successful. On 31.03.2017 co’s Balance Sheet stood
as under ;

Particulars Note Amount

No. 64]
I.  Equity and Liabilities

1l Shareholder’s Funds

Share Capital 1 12,00,000
Reserves & Surplus 2 (-) 8,70,000
2 Non-current liabilities
Long term borrowings ) 5,00,000
3; Current Liabilities
Trade payables - 4 7,00,000
Total ~15,30,000
II. Assets
1 Non-current Assets
Tangible Fixed Assets 5 7,80,000
Intangible fixed Assets 6 2,00,000
2. Current Assets
Inventories 7 3,70,000
Trade Receivables 8 1,80,000
Total 15,30,000

Notes to Balance Sheet :
Note1:  Share capital
Authorised Capital
20000 equity shares of T 100 each 20,00,000
fully paid
Issued, Subscribed & Paid up capital
12,000 equity shares of ¥ 100 each

fully paid 12,00,000
Total 12,00,000
Note: 2 Reserves & surplus
Reserves ¢ =
Surplus : loss as per P & L a/c (=) 8,70,000
Total (-) 8,70,000
Note:3  Long Term Borrowings
Debentures 5,00,000
Total "5,00,000
AN P.T.0.
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Note:4 Trade payables
creditors 7,00,000
Total | W
Note: 5 Tangible fixed Assets

Land & Buildings 5,00,000
Machinery 2,60,000
Furniture 20,000

Total W

Note: 6 Intangible Fixed Asset
Goodwill 2,00,000
Total m
Note : 7  Inrventories
Stock 3,70,000
Total m
Note: 8 Trade Receivables
Debtors 1,80,000 -
Total “1,80,000
It is resolved to reconstruct the company on the basis of the following scheme :

(1) The 12000 shares of X 100 each are to be reduced to an equal number of fully paid

shares of T 50 each.

(2) Debenture holders are to be discharged by the issue of 8,000 unissued shares as
fully paid up shares of ¥ 50 each in full settlement of their claim.

(3) The claims of creditors to be reduced by 50% as agreed by them.

(4) The amount available be used to write off Profit & Loss a/c, 50% off Goodwill,
Z 20,000 off stock and ¥ 30,000 off machinery and also provision for doubtful
debts to be made to the extent of ¥ 10,000.

Pass journal entries and prepare the revised Balance Sheet of the company.

AT A




13 36423 /D230

Agon &. & so0dbE dBrEes 0EReadPNTdY. 31.3.2017 § OWT BT DZFOLT) =

YN8,
AIONL 8563 Boal; Vo5 09D
I Feo) WoBDY HoBY WPWRONE €3]
1. 3Bedorwos poE®
Betd WoBDY 1 12,00,000
ezen AY arte ey 2 (-) 8,70,000
2. 306 ¥OT BREBMOTNY :
Degrar oD F® 3 5,00,000
3. %0 eI
BRBIETIE Dm0 WOWS) 4 7,00,000
msg 15,30,000
I SN
1. %€ ¥d e
rfecdmeria JTeRMEH 5 7,80,000
reeKTend Q0N 6 2,00,000
2. %36 BAND
AEADINS 7 3,70,000
WOWETT @0 LUK 8 1,80,000
Wb 15,30,000
¥Eos 28T 3T EIN ¢
1. 3etd woBeY
BROWIOVE WOBIY
20,000 Fo5R, Fedorivd 20,00,000
(R8s Roweodwer I 100
2,8 3edrf)
20ed e 38 WoBweY
T 100 B08 TP F0TOIPIT
12,000 Sedorish 12,00,000
%83) 12,00,000
2 aesen AY Tone eyl
QETED VY =
o923 ©pY-THEG 308 HFeO T (-) 8,70,000
Wts) (-) 8,70,000

(T E R P.T.O.




36423/D230

9z

500D VTS IPBED IGFFOAT, wEd o3eexs 88 FUNT0ST.

M
(2)

(3)
(4)

S0890d deem JIFEE mNS WD o

Desor IPD T

zme)aigrk}o

BRBWETITE WyE0 WOWE)
TOBITOTT

Reeddmenyes ?‘goa&ﬁeéa
2R TR TR
0300382 LBTTED
&eBREHTT

e9rieeTDB ?(goaﬁgmb 2
Bede e300y

WOLETT 500 WU

FOTMRTTY

14

wed)

%830
&

0830
&

5,00,000
5,00,000

7.,00,000
7,00,000

5,00,000
2,60,000

20,000
7,80,000

2,00,000
2,00,000
3,70,000
3,70,000

1,80,000
1,80,000

3ew T 1000 12,000 5€d)ﬁ%“<‘\i°.z eage 7033030 TPEE Zoweodaes X 50 § QYRR B
D@RnBadRns (Un-issued) 8,000 Bedorio™ & 50 To8 oLt Fowe0deE Jed))

ROBIPTCTON QBT

4301 WOeTw SPBWE) FBTTR 50% B DeIERBEV BROBWIT.

TN BT epy3-Jeg aedod Q) BROFTY Iricd BT, 50% TR

3edr=RO@®Y, I 20,000 @) @R M) AOBTI 9&28)0(3 more T 30,000 TR

03)08.6,e550 DT IHBITTO) @one ¥ 10,000 B ®eomdy RDD RN

rciatalonAleS)

B0y S0IHOD.

U

R Fomdodh SROFCRER0d Fo30E Wgess




Case Study (compulsory)
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SECTION - D/ &on- &
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1x15=15

1

Seeta Ltd. is taking over the business of Geeta
Geeta Ltd. on that date is as under :

I1.

Particulars
Equity & Liabilities

1. Shareholder’s funds
Share Capital ( Shares of ¥ 10 each)
Reserves & surplus

22 Non-current liabilities :
10% Debentures
3. Current liabilities : creditors
Total
Assets :
it Non-current Assets
Tangible Fixed Assets
21 Non-current Investments

S Current Assets
Total

Notes to Balance Sheet :

1

The purchase consideration is to be

Reserves & Surplus
General Reserves
Less : Miscellaneous expenditure
Profit & Loss a/c (Surplus)
Total
Tangible Fixed Assets
Buildings
Machinery
Total

the following manner :

(a)
(b)
()

60% in equity shares of Seeta Ltd.

Ltd. on 1.4.2017. The Balance Sheet of

Note No. Amount

(%)

2,00,000
1,00,000

- 1,00,000

50,000
4,50,000

2 3,50,000
- 75,000

- 25,000
4,50,000

T Amount

1,00,000
50,000 50,000
50,000

1,00,000

1,00,000
2,50,000
3,50,000

paid on the basis of ¥ 25 p.er share of Geeta Ltd. in

10% in convertible debentures of 100 each

The Balance in cash

You are required to :
()  Compute purchase consideration under AS-14.
(i) Determine the nature of Amalgamation from the above information.

(1)

(tv)

AR A

State the reasons of selecting a particular method of Amalgamation.
Pass the opening journal entries in the books of Seeta Ltd.

P.T.O.
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IV Semester B.Com.3 Degree Examination, May - 2019
COMPUTER APPLICATION IN BUSINESS - II

(RCU REGULAR AND REPEATERS)
Time : 3 Hours

Instructions : (1) All sections are compulsory subject to inlernal choice.

(2) Section - D is compulsory.

SECTION - A
Answer any ten questions. Each question carries 2 marks.
1.  Write any two advantages of algorithm.
2.  Draw and name any two symbols of flow-chart.
3. Mention any two format specifiers with their meanings.
4.  Write the use of “\n" and “\t' in C.
5.  Write the syntax of if...else statement in C.
6. Expand : DNS and IP.
7.  What do you mean by Gateway ?
8.  Write any two services of Internet Banking.
9.  Define RTGS.
10. Name any two kinds of credit cards.

11. Specify any two web based marketing tools.

12. List 4 Ps of marketing,.

Max. Marks : 80

10x2=20

PO
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SECTION - B
Answer any three questions. Each question carries five marks. 3x5=15

13. Write an algorithm and draw a flow-chart to find maximum of two numbers.
14. Describe for-loop in C with syntax and example.
15. Write a C program to find current ratio by using the formula

Current assets
Current liabilities

Current ratio =

16. Iixplain the advantages of Internet.

17. Write the steps to perform fund transfer using NEFT.

SECTION - C
Answer any two questions. Fach question carries 15 marks. 2x15=30

18. Discuss in detail the steps involved in solving the problems using computer.

19. Describe the features, structure and data types of C program.

20. Discuss in delail the functions of Supply Chain Management.

21. Write short notes on :
(@) Mobile banking

(b) Arrays

() Advertising on Internet

AL
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SECTION - D
22. Case study (Compulsory) : . 1x15=15

NWKRTC introduced new promotion scheme to the conductors of their buses on the
basis of following conditions.

(a) If collection amount = 25,000 then
Promotion amount is ¥ 1.50 per 1,000 Rupees.

(b) If collection amount between 15,000 and 25,000 then
Promotion amount is.? 1.10 per 1,000 Rupees.

(c) If collection amount between 8,000 and 15,000 then
Promotion amount is ¥ 0.80 per 1,000 Rupees.

(d) Otherwise
Promotion amount is ¥ 0.50 per 1,000 Rupees.

Accept conductor code, conductor name, collection amount and find promotion amount
and print all the details.

-00o0-

ORI 0




